Note: the best way to study for the exam is to:

· Start by reading the lecture notes twice (if you don´t, your study will be of a much lower quality).

· And then answer the weekly questions.

The answers of Week 11’s questions should be handed to me at the beginning of the exam. They should be manuscript (not typewritten) and preferably based on schemes (as I do in the slides). Keep a copy for yourself.

Please write WEEK 9 in bold at the beginning of your answers.

Week 9
L17: The Great Depression: the causes of the decline in output in 1930 and in bank lending in 1930-33

0. Present the main facts of the GD.

1.a)Explain the long US expansion from 1921 to 1929.

b) The rise in stock prices over 1922-6 resulted from a different factor from that over 1926-9. Do you agree? Explain.
2.Why does a decline in stock prices reduces the incentive of companies to fund new I through stock issues?

3.What were the two reasons for the decline in investment demand observed in 1930?
4. Does consumption respond more to a change in income or to a change in wealth? Explain.
5.What were the two reasons for the decline in consumption demand observed in 1930?

6. Consider the Keynesian explanation for the 50% decline in bank lending observed between 1929 and 1933. Key question.
a) Why that may have been caused by in a decline in the demand for bank loans by firms?

b) Why that may have been caused by in a decline in the supply of bank loans to businesses?

c) Why that may have been caused by in a decline in the supply of bank loans to households?

7. According to Friedman and Bernankee, the bank runs were the main cause of the decline in bank lending observed bet 1929 and 1933. Explain their argument.

8. Do the facts support Friedman’s thesis?

L18: The 1933-27 recovery

9.What was the evolution of GNP, unemployment and CPI from 1929 through 1933 to 1937?

10.a)Explain how the gold inflows from Europe between 1933 and 1937 affected the money stock.
b) Did that lead to the observed recovery in GDP? Explain.
c) What was the major cause of the increase in the money stock between 1933 and 1936? 

d) “Changes in the money stock are exclusively determined by the sum of the changes in bank credit to the private sector and to the public sector”. Do you agree? Explain.

11. What is the explanation for the 1933-6 US recovery?

12. a) “The incredible reduction in unemployment in Germany between 1932 and 1938 was generated by an extremely expansionary monetary policy.” Do you agree? Explain.

13. Explain seven institutional legacies of the New Deal.
14. When many investors have bought shares with loans, a decline in stock prices may lead to a vicious circle. Why? 

Okun’s law

15. a) Why doesn’t growth on trend reduce unemployment? 

b) “If output stays constant, so does employment and unemployment.” Do you agree? Explain.

c) If output falls by 5% and TP increases the production per worker by 3%, what happens to employment?
d) What is meant by a jobless recovery?

e) If output rises 2 pp point above trend, why doesn’t employment rise by 2 percent? F) f) In that case, what happens to the unemployment rate? What’s the name of that relation between output above-trend growth and the change in U?

